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In this research thesis, we have described some new mathematical connections 
between some equations of various topics concerning the D-Branes and some sectors 
of Number Theory (Rogers-Ramanujan continued fractions and mock theta 
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https://www.news.ucsb.edu/2012/013423/ucsb-physicist-receives-international-acclaim-his-work-
theoretical-physics 

 

Joseph Polchinski (1954-2018) 

 

 
 
 
 
From: 
 
Open String Tachyon in Supergravity Solution 
Shinpei Kobayashi, Tsuguhiko Asakawa and So Matsuura 
arXiv:hep-th/0409044v4 13 Jun 2005 
 
We have, from: “Gaussian Brane and Open String Tachyon Condensation” 
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From: 

J. Polchinski, String Theory Vol. I: An Introduction to the Bosonic String 

J. Polchinski, String Theory Vol. II: Superstring Theory and Beyond 
 
 

 
        κ-1 = 2.4e+18;    κ = 4.1666…e-19 
 
 
From: 
 
Modular equations and approximations to 𝝅 
Srinivasa Ramanujan - Quarterly Journal of Mathematics, XLV, 1914, 350 – 372 
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e^(-Pi*sqrt(22)) = (((2508928 - e^(Pi(sqrt(22)) + 24)))/4372  
 
3.985727908284188 × 10^-7 
 
64((((1+sqrt(2))^12+(1-sqrt(2))^12))) = 2508928 
 
 
For p = 6 and 𝜙෠ = 1.5  , from 
 

                                       
 

𝑒ିଶథ = 𝑒ିଶ√ଶ఑థ෡ = 𝑓௣(𝑟)ି√ଶ఑
௣ିଷ

ଶ  
 
we obtain: 
 
exp((-2*sqrt(2)*1.5* ((((3.64993* (3.98573 × 10^-7)^(2.96))) 
 
where ((((3.64993* (3.98573 × 10^-7)^(2.96))))) = 4.16666 × 10^-19 = 𝜅 
 
Input interpretation: 

 
 
Result: 

 
 
Or: 
 
exp((-2*sqrt(2)*1.5*4.16666 × 10^-19)) 
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Input interpretation: 

 
 
Result: 

 
0.99999999999999999823223587546.... 
 
 
From: 
 

 
 
 3 – 6 / 2√2 = -3/(2*sqrt(2)) 
 
Input: 

 
 
Decimal approximation: 

 

-1.060660171779…. = 
ଷି௣

ଶ√ଶ
 

 
 
 3 – 6 / 2√2 * κ = (((-3/(2*sqrt(2))))) * (((4.16666 × 10^-19))) 
 
Input interpretation: 

 
 
Result: 

 

-4.41941... * 10-19 = 
ଷି௣

ଶ√ଶ
𝜅 

 
 
We have indeed: 
 
-1.06066017177 * x – 4.16666e-19 *(x)^2 = 1.5 
 
Input interpretation: 
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Result: 

 
Plot: 

 
  

Alternate forms: 
 

  
 

  
 

Alternate form assuming x is real: 
 

  
Solutions: 

 
  

 
Integer solution: 

 
 
Result: 

 
 

-2.545588485189e+18 = ೛்

(଻ି௣)ஐఴష೛௥ళష೛
 

Thence, in conclusion: 
 
(((-1.06066017177 * (-2.545588485189e+18)))) – (((-1.06066017177*4.16666e-19 
*(-2.545588485189e+18)^2))) 
 
Input interpretation: 
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Result: 

 
𝜙෠(𝑟) = 5.56379136574… * 1018 
 
Indeed, from: 
 

 
 
We obtain: 
 
5.56379136574… * 1018  = (((-1.06066017177 * (-2.545588485189e+18)))) – (((-
1.06066017177*4.16666e-19 *(-2.545588485189e+18)^2))) 
 
Result: 

 
 
 

Now, we have that: 
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Now, we calculate h(r), f+(r), f-(r) and k 
 
r0 = 2    r = 4096  (for r  infinity) 
 
(1-2/4096) = 0.99951171875 = f-(r) 
 
(1-2/4096) 
 
Input: 

 
 
Exact result: 

 
Decimal form: 

 
0.99951171875 result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
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(1+2/4096) = 1.00048828125 = f+(r) 
 
Input: 

 
 
Exact result: 

 
Decimal form: 

 
1.00048828125 
 
 
h(r) = ln ((((1-2/4096) / (1+2/4096))))        
 
 
Input: 

 

 
Exact result: 

 
Decimal approximation: 

 
-0.00097656257761… 
 
Property: 

 
  

Alternate form: 
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Alternative representations: 

 
  

 
  

 

 
 

 
 
Series representations: 

 
  

 
  

 

 
 

 
 
Integral representations: 
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  

 

 
 

We note that: 
 
-1/h(r) = -1/ (((((ln ((((1-2/4096) / (1+2/4096))))))))) 
 
Input: 

 

 
 
Exact result: 

 
Decimal approximation: 

 
1024 
 
Property: 

 
  

Alternate form: 

 
 
 
Alternative representations: 

 
  
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  

 

 
 

 
 
Series representations: 

 
  

 
  

 

 
 
 
 

 
Integral representations: 

 
  
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From the following data: 
 

 

 
   
p = 6; c1 = 1/4 = 0.25 
 
sqrt(((2*2 – ((7/16)*0.25^2)))) = k = 1.9931523 
 
Input: 

 
 
Result: 

 
1.9931523.... 
 
 
The general asymptotically flat solution of the equations of motion of the p-brane is 
given by (see above slide): 
 

 
 
 
Now, we calculate A(r) 
 
p = 6,  c1 = 1/4 = 0.25   k = 1.9931523   c2 = 1/3 = 0.333333....   
 
h(r)  =  -0.00097656257761… 
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(-3*1/4)/64 * (-0.00097656257761) – 1/16 ln ((((cosh(1.9931523*-
0.00097656257761)-1/3 sinh(1.9931523*-0.00097656257761)))) 
 
Input interpretation: 

 

 
 
 

 
 
Result: 
 

 
-0.000029211892…. = A(r)  

 
Alternative representations: 

 
  

 
  
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Series representation: 

 
 
 
 
Integral representations: 

 
  

 
  
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The reciprocal is: 
 
1/ (((((((-3*1/4)/64 * (-0.00097656257761) – 1/16 ln ((((cosh(1.9931523*-
0.00097656257761)-1/3 sinh(1.9931523*-0.00097656257761)))))))))) 
 
Input interpretation: 

 

 
 
 

 
 
 
Result: 

 
-34232.634…. = 1/A(r) 

 
Alternative representations: 

 
  

 
  
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Series representation: 

 
 
Integral representations: 

 
  

 
  
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We note that, from the computations of the following Ramanujan mock theta 
functions, 4267.24;   2498.27;  2122.1867 and  33021.1  we obtain: 
 
-(((((4267.24 – 2498.27 + 33021.1 - (2122.1867 / 4 ) - sqrt(729)))))) 
 
Input interpretation: 

 
 
 
Result: 

 
-34232.523325 
 
This result is practically equal to the value of  1/A(r) = -34232.634…. 
 

                ⇒ 
 

                ⇒  
 
                 = -34232.523325 ≈ -34232.634 
 
Now: 
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ln(1.00048828125*0.99951171875)+((((6+1)*(3-6)*0.25))) / 64 * (-
0.00097656257761) + 7/16 * ln((((cosh(1.9931523*-0.00097656257761)-1/3 
sinh(1.9931523*-0.00097656257761)))) 
 
Input interpretation: 

 

 
 
 

 
Result: 

 
0.0003644621 = B(r) 

 
Alternative representations: 

 
  

 
  
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Series representation: 

 
 
 
Integral representations: 

 
  
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  

 
 
 
 
1/(((((ln(1.00048828125*0.99951171875)+((((6+1)*(3-6)*0.25))) / 64 * (-
0.00097656257761) + 7/16 * ln((((cosh(1.9931523*-0.00097656257761)-1/3 
sinh(1.9931523*-0.00097656257761))))) 
 
Input interpretation: 

 

 
 
 

 
Result: 

 
2743.769…. = 1/ B(r) 
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Alternative representations: 

 
  

 
  

 

 
 

 
 
Series representation: 
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Integral representations: 

 
  

 
  
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We note that  33021.10 / 12 = 2.751,758333333 is very near to the value of 1/ B(r) = 
2743.769  where 33021.10 is a Ramanujan mock theta function 
 
 
Now, we have that: 
 
((((6+1)*0.25))) / 16 * (-0.00097656257761) -3/4 * ln((((cosh(1.9931523*-
0.00097656257761)-1/3 sinh(1.9931523*-0.00097656257761)))) 
 
Input interpretation: 

 

 
 
 

 
Result: 

 
-0.0005946833…. = 𝜙(𝑟) 

 
Alternative representations: 
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  

 
  

 

 
 
 
Series representation: 

 
 
 
Integral representations: 
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  

 
  

 
 
 
 
 
1/(((((((((6+1)*0.25))) / 16 * (-0.00097656257761) -3/4 * ln((((cosh(1.9931523*-
0.00097656257761)-1/3 sinh(1.9931523*-0.00097656257761))))))))) 
 
Input interpretation: 

 

 
 
 

 
Result: 
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-1681.567…. = 1/ 𝜙(𝑟) 

 
Alternative representations: 

 
  

 
  

 

 
 

 
 
Series representation: 
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Integral representations: 

 
  

 
  

 
 
 
 
 
From the calculations of the following Ramanujan mock theta functions, we obtain: 
-((-33021.10 /10 + 2122.18 + 2498.27 + 4267.24/12)) 
 
Input interpretation: 

 
 
 
 
 
Result: 
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Repeating decimal: 

 
-1673.943.... result very near to the value of 1/𝜙(𝑟) = -1681.567 
 
 
((((((1/3)^2-1))^1/2))) * ((sinh(1.9931523*-0.00097656257761))) /  
((((((cosh(1.9931523*-0.00097656257761)-1/3 sinh(1.9931523*-
0.00097656257761))))))) 
 
Input interpretation: 

 

 
 

 
Result: 

 
Polar coordinates: 

 
0.00183393 = eΛ(r) 
 
 
 
Alternative representations: 

 
  
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  

 

 
 
 
Series representations: 

 
  
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  

 
 
 
1/(((((((((((1/3)^2-1))^1/2))) * ((sinh(1.9931523*-0.00097656257761))) /  
((((((cosh(1.9931523*-0.00097656257761)-1/3 sinh(1.9931523*-
0.00097656257761)))))))))))) 
 
Input interpretation: 

 

 
 

 
Result: 

 
Polar coordinates: 

 
545.278 = 1/eΛ(r) 
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Alternative representations: 

 
  

 
  

 

 
 
 
Series representations: 

 
  
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  

 

 
 

 
 
Integral representations: 

 
  

 
  
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From the following Ramanujan mock theta function, we obtain: 
 
12+(4267.24 / 8)   
 
Input interpretation: 

 
 
Result: 

 
545.405  result practically equal to the solution of 1/eΛ(r) = 545.278 
 
Thence we have the following results: 
 
-0.000029211892…. = A(r)     0.0003644621 = B(r)     -0.0005946833…. = 𝜙(𝑟) 

 

 0.00183393 = eΛ(r) 

 
We have the following ratio (A. Nardelli) concerning the general asymptotically flat 
solution of the equations of motion of the p-brane: 
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𝐴(𝑟) ×
1

𝐵(𝑟)
൬−

1

𝜙(𝑟)
൰ ×

1

𝑒Λ(௥)
 

 
 
 
Input interpretation: 

 
 
Result: 

 
73491.7883254... 
 
We have the following mathematical connection with the Karatsuba’s equation 
concerning the Dirichlet series: 
 

     

           
             = 793139765.05275 
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Indeed: 
 
(793139765.05275/104) – 4096 – 2048 +322 
 
Where 4096 = 642 , 2048 = 64*32 and 322 is a Lucas number 
 
Input interpretation: 

 
 
Result: 

 
73491.976505275 
 
 

⎝

⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎞

/104 - 4096 - 2048 + 322  

 
= 73491.976505275  
 
 

𝐴(𝑟) ×
ଵ

஻(௥)
ቀ−

ଵ

థ(௥)
ቁ ×

ଵ

௘Λ(ೝ) = 

 

=  =  
 
= 73491.7883254... 
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⎝

⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎞

/104 - 4096 - 2048 + 322  

 

≈  𝐴(𝑟) ×
ଵ

஻(௥)
ቀ−

ଵ

థ(௥)
ቁ ×

ଵ

௘Λ(ೝ) 

 
 
73491.976505275 ≈ 73491.7883254... 
 
 
 
 
 
 
 

⎝

⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎛ /

/

/

⎠

⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎞

⇒ 
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⇒

⎝

⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎞

/104-4096-2048+322 = 

 
 
=  73491.7883254... ≈ 73491.976505275 
 
Note that 73491 = 64079 + 9349 + 55 + 8, where 64079 and 9349 are Lucas numbers, 
while 55 and 8 are Fibonacci numbers 
 
 
We have that: 
 
7/10^3+(73491.7883254)^1/22 
 
Input interpretation: 

 
 
Result: 

 
1.671150782077... 
 
We note that  1.67115078... is a result practically equal to the value of the formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶ  gm              

 
that is the holographic proton mass 
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7

10ଷ
+ ඨ𝐴(𝑟) ×

1

𝐵(𝑟)
൬−

1

𝜙(𝑟)
൰ ×

1

𝑒Λ(௥)

మమ

= 1.671150782077 … 

 
 
 
From the algebraic sum of the various results, we obtain: 
 
1/ (((-0.000029211892 + 0.0003644621 -0.0005946833 + 0.00183393)))^1/13 
 
Input interpretation: 

 
 
Result: 

 

1.642875…. ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
And: 
 
2*sqrt((((6*1/ (((-0.000029211892 + 0.0003644621 -0.0005946833 + 
0.00183393)))^1/13)))) 
 
Input interpretation: 

 
 
Result: 

 
6.279251…. = 2𝜋𝑟 for r = 0.9993739…, radius that is very near to the value of the 
following Rogers-Ramanujan continued fraction: 
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From the following data 
 

 

 
   
p = 6; c1 = 1/4 = 0.25 
 
p = 6,  c1 = 1/4 = 0.25   k = 1.9931523   c2 = 1/3 = 0.333333....   
 
h(r)  =  -0.00097656257761…   κ = 4,1666…e-19 
 

 
 
2*Pi^1.5 / gamma (1.5) = 12.5664.... 
 
Input: 

 

 

 
Result: 

 

 

12.5664…. 

Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

 

 
 
Integral representations: 

 

  

 

  

 

 

 
 
 
From: 
 
Open String Tachyon in Supergravity Solution 
Shinpei Kobayashi , Tsuguhiko Asakawa  and So Matsuura 
hep-th/0409044 
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                                    (2.19) 
 
 
Vp= 2𝜋ଶ  (admitting a torus of unitary radii)  
 
(2*12.5664 * 2*Pi^2) / (16*4.1666e-19^2) = 1.7860228654147…*1038 = Np 

 
 
Input interpretation: 

 

 
Result: 

 

1.7860228654147…*1038 
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                                                                                                            (2.21) 
 
1.7860228654147 *1038 * (-3/2*1/4+2*1/3*1.9931523) * 2 = M   

Input interpretation: 

 
 
Result: 

 
Scientific notation: 

 
3.406903627...*1038 
 
Inserting the value of the ADM mass 3.406904e+38 in the Hawking radiation 
calculator, we obtain: 
 
Mass = 3.406904e+38 
 
Radius = 5.058746e+11 
 
Temperature = 3.602107e-16 
 
From the Ramanujan-Nardelli mock formula, we obtain: 

 
sqrt[[[[1/(((((((4*1.962364415e+19)/(5*0.0864055^2)))*1/(3.406904e+38)* sqrt[[-
((((3.602107e-16 * 4*Pi*(5.058746e+11)^3-(5.058746e+11)^2))))) / ((6.67*10^-
11))]]]]] 
 
Input interpretation: 
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Result: 
 

1.618249336… 
 
And: 
 
1/sqrt[[[[1/(((((((4*1.962364415e+19)/(5*0.0864055^2)))*1/(3.406904e+38)* 
sqrt[[-((((3.602107e-16 * 4*Pi*(5.058746e+11)^3-(5.058746e+11)^2))))) / 
((6.67*10^-11))]]]]] 
 
Input interpretation: 

 
 
Result: 

 
0.617951744… 
 
 
Now: 
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We have: 
 
2(1/3^2-1)^1/2*1.9931523*1.7860228654147e+38*2 = Q 
 
Input interpretation: 

 
 
Result: 

 
Polar coordinates: 

 
1.34249 * 1039 
 
47+((((2(1/3^2-1)^1/2*1.9931523*1.7860228654147e+38*2))))^1/12 
 
Where 47 is a Lucas number 
 
Input interpretation: 

 
 
Result: 

 
Polar coordinates: 

 
1869.07 result very near to the rest mass of D meson 1869.62 
 
We note that: 
 
M = 3.406903627...*1038 
 
Q = 1.34249 * 1039 
 
((((3.406903627e+38 / 1.34249e+39)^1/3))) 
 
Input interpretation: 
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Result: 

 
0.633115476157163... 
 
 
And: 
 
(1.34249e+39 / 3.406903627e+38)^1/e 
 
Input interpretation: 

 
 
Result: 

 
1.656117119728.... We note that, the result 1,6561171... is practically equal to the 

14th root of the following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 

1164,2696  i.e. 1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … 

 
And: 
 
(11/10^3+4/10^3)+(1.34249e+39 / 3.406903627e+38)^1/e 
 
Where 4 and 11 are Lucas numbers 
 
Input interpretation: 

 
 
Result: 
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1.671117119.... 
 
We note that  1.671117... is a result practically equal to the value of the formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶସ gm              

 
that is the holographic proton mass 
 

Further: 
 
 
(-55/10^3+2/10^3+11/10^3+4/10^3)+(1.34249e+39 / 3.406903627e+38)^1/e 
 
Where 2 and 55 are Fibonacci numbers, 4 and 11 are Lucas numbers 
 
Input interpretation: 

 
 
Result: 

 
1.6181171197.... 
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
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-3/8(((sqrt(26)-3/4*(0.25*5)/ 1.9931523))) * (1-7)*1/4096 = 𝒉𝑴𝑵
(𝟏) (𝒓) 

 
Input interpretation: 

 
 
Result: 

 
0.002542598… 
 
We have also that: 
 
exp(((((-3/8(((sqrt(26)-3/4*(0.25*5)/ 1.9931523))) * (1-7)*1/4096))))) 
 
Input interpretation: 

 
 
Result: 

 
1.002545834... 
And: 
 
-7/10^4 + exp(((((-3/8(((sqrt(26)-3/4*(0.25*5)/ 1.9931523))) * (1-7)*1/4096))))) 
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Input interpretation: 

 

 
Result: 

 

1.001845834… result practically equal to the value of the following Rogers-
Ramanujan continued fraction: 
 

 
 
 
 
Series representations: 

 

  

 

  
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-3/4((((-3/4*sqrt(1+5^2)+7/16*(0.25*5)/ 1.9931523))))*1/4096 = 𝝓(𝟏)(𝒓) 
 
Input interpretation: 

 
 
Result: 

 
0.0006500039… 
 
And the inverse: 
 
1/((((-3/4((((-3/4*sqrt(1+5^2)+7/16*(0.25*5)/ 1.9931523))))*1/4096)))) 
 
Input interpretation: 

 
 
Result: 

 
1538.452… result very near to the rest mass of Xi baryon 1535 
 
And: 
 
-13/10^3+ [1/((((-3/4((((-3/4*sqrt(1+5^2)+7/16*(0.25*5)/ 
1.9931523))))*1/4096))))]^1/15 
 
Input interpretation: 
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Result: 

 
1.6180688... 
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 
 
 
From the two results, we have also: 
 
1+(0.002542598 - 0.0006500039) 
 
Input interpretation: 

 
 
Result: 

 
1.0018925941 result practically equal to the value of the following Rogers-
Ramanujan continued fraction: 
 

 
 
 
 
We have also, from 3-parameter solution, that: 
 
(4267.24+11+3+2)+1/Pi*1/(0.002542598 * 0.0006500039) 
 
Where 4267.24 are a result of a Ramanujan mock theta function and 2, 3 and 11 are 
Lucas numbers 
 
Input interpretation: 
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Result: 

 

196883.3… result practically equal to the value of the following partition function, 
concerning the j-invariants: 

 

Alternative representations: 

 

  

 

  

 

 

 

 

 
 
Series representations: 

 

  
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  

 

 

 
 
Integral representations: 

 

  

 

  

 

 
Note 
 
From: 
 
Rotating strings confronting PDG mesons 
Jacob Sonnenschein and Dorin Weissman 
The Raymond and Beverly Sackler School of Physics and Astronomy, 
Tel Aviv University, Ramat Aviv 69978, Israel 
arXiv:1402.5603v1 [hep-ph] 23 Feb 2014 
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The tensor structure of the closed string amplitude (6.6.19) is just two copies of that 
in the open string amplitude (6.5.15), if one sets α’= 2 in the closed string and α’ = 
1/2 in the open. 
 
This is what allows the universal slope fit in section 4.1.5, which had an optimum for 
the slope α’ = 0.884 GeV-2 . Other values are  0.90904;  0.979 
 
(1,07   +   0,98   +   0,884 + 0,90904)   ÷   4 =  0,96076  
 
0,884   +   0,97 =  1,854   ÷   2 =  0,927 
 
(0,979   +  0,96076 +  0,927) / 2 = 0,95558666.... 
 
 
We take an average value for α’ that is 0.95686 that correspond also with the result of 
the following Rogers-Ramanujan continued fraction: 
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((2Pi*sqrt(0.95686)))^2 
  
Input: 

 
Result: 

 
37.7753…. = 37.7753 TD9 = TD7 

 

 
 
 
 
  sqrt(2)*((2Pi*(0.95686))) 
 
  Input: 

 

Result: 
 

8.5024339364… TD9 = TD8 

  
Series representations: 
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  

 

  

 

 

 

 

 

 

 

 
We note that: 
 
37.7753 TD9 = TD7 
 
8.5024339364… TD9 = TD8 

37.7753 / 8.5024339364 
 
Input interpretation: 

 
 
Result: 

 
4.442880742451775…. = TD7 = TD8 
 
And: 
 
(((((37.7753) / (8.5024339364)))))^1/3 
 
Input interpretation: 
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Result: 
 

 

1.64394853923…. ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
 
 
 

 
 
 
We have the following results: 
1-1/8(((sqrt(26)-3/4*(0.25*5)/ 1.9931523))) *1/4096 + 1/(4096)^2 = e2A(r) 
 
Input interpretation: 

 
 
Result: 
 

 
0.99985880414.... result very near to the following Rogers-Ramanujan continued 
fraction: 
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1+7/8(((sqrt(26)-3/4*(0.25*5)/ 1.9931523))) *1/4096 + 1/(4096)^2 = e2B(r) 
 
Input interpretation: 
 

 
 
Result: 
 

 
1.0009888478581212.... 
 
The inverse is: 
 
1/((((1+7/8(((sqrt(26)-3/4*(0.25*5)/ 1.9931523))) *1/4096 + 1/(4096)^2)))) 
 
Input interpretation: 

 
 
Result: 
 

 
0.9990121290.... result very near to the following Rogers-Ramanujan continued 
fraction: 
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((((-3/4*sqrt(1+5^2)-7/16*(0.25*5)/ 1.9931523))))*1/4096+ 1/(4096)^2 = 𝝓(𝒓) 
 
Input interpretation: 
 

 
 
Result: 
 

 
-0.001000585.... 
 
The inverse is: 
 
1/ ((((((((-3/4*sqrt(1+5^2)-7/16*(0.25*5)/ 1.9931523))))*1/4096+ 1/(4096)^2)))) 
 
Input interpretation: 

 
 
Result: 
 

 
-999.4150.... 
 
We can to obtain: 
 
-(47+18-4) -1/ ((((((((-3/4*sqrt(1+5^2)-7/16*(0.25*5)/ 1.9931523))))*1/4096+ 
1/(4096)^2)))) 
 
where 4, 18 and 47 are Lucas numbers 
 
Input interpretation: 

 
 
Result: 
 

 
938.4150.... result practically equal to the proton rest mass in MeV 938.272 
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1/4096 + 1/4096^2 = C(r) 
 
Input: 

 
 
Exact result: 
 

 
Decimal form: 

 
0.00024420022964…. 
 
The inverse is: 
 
1/(((1/4096+ 1/(4096)^2)))   
 
Input: 

 
 
Exact result: 
 

 
Decimal approximation: 
 

 
4095.00024408…. 
  
And: 
 
-4+1/4*1/(((1/4096+ 1/(4096)^2))) 
 
Input: 

 
 
Exact result: 
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Decimal approximation: 
 

 
1019.75006102…. result practically equal to the rest mass of Phi meson 1019.445 

 
The algebraic sum of the results is: 
 
0.99985880414 + 1.0009888478581212 - 0.001000585 + 0.00024420022964 
 
(0.99985880414  +  1.0009888478581212    -0.001000585 +  0.00024420022964) 
 
Input interpretation: 

 
 
Result: 

 
2.0000912672277612 
 
The inverse is: 
 
1/(0.99985880414  +  1.0009888478581212    -0.001000585 +  0.00024420022964) 
 
Input interpretation: 

 
 
Result: 

 
0.49997718423422.... ≈ 0.5 = 1/2   
 
Note: 
 
From Wikipedia 
 
Apart from the trivial zeros, the Riemann zeta function has no zeros to the right of σ = 1 and to the left of σ = 
0 (neither can the zeros lie too close to those lines). Furthermore, the non-trivial zeros are symmetric about 
the real axis and the line σ = 1/2 and, according to the Riemann hypothesis, they all lie on the line σ = 1/2 

 
From the multiplication of the results, we obtain: 
 
-(0.99985880414  *  1.0009888478581212  *  -0.001000585 *  0.00024420022964) 
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Input interpretation: 

 
 
Result: 

 
Repeating decimal: 

 
2.44550170564589....* 10-7 
 
From the inverse, we obtain: 
 
1/ -(0.99985880414  *  1.0009888478581212  *  -0.001000585 *  
0.00024420022964) 
 
Input interpretation: 

 
 
Result: 

 
4.0891404724491185….*106 
 
 
From the ratio, we obtain: 
 
(0.99985880414  *  1/ 1.0009888478581212  * 1/  -0.001000585 * 1/ 
0.00024420022964) 
 
Input interpretation: 

 
 
 
Result: 

 
-4.087985814559….*106 
 
We have that: 
 
11/10^3+(4.087985814559*10^6)^1/31 
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Where 11 is a Lucas number: 
 
Input interpretation: 

 
 
Result: 

 

1.6450844457876.... ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
The ratio between the two results, is: 
 
-(4.0891404724491185e+6  / -4.08798581455999412 × 10^6) 
 
Input interpretation: 

 
 
Result: 

 
1.00028245154….. 
 
 
-11/10^3+(((((-(4.0891404724491185e+6  / -4.08798581455999412 × 
10^6))))))^1728 
 
Input interpretation: 

 
 
Result: 

 
1.618066815879…. 
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
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From: 
 
Open String Tachyon in Supergravity Solution 
Shinpei Kobayashi, Tsuguhiko Asakawa and So Matsuura  
arXiv:hep-th/0409044v4 13 Jun 2005 
 
 
We have also that: 
 

 
 
 
sqrt(1+5^2)+[((((7/(12)*(0.25*5)/1.9931523))))] 
 
Input interpretation: 
 

 
 
Result: 
 

 
5.464855.... 
 
And: 
 
sqrt(1+5^2)+(((3/(4)*(0.25*5)/1.9931523))) 
 
Input interpretation: 

 
Result: 
 

 
5.569380 
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We have the following equation concerning the Gaussian brane: 
 

𝑒𝑥𝑝(−2𝜋𝛼′|𝑇|ଶ) → 𝑒𝑥𝑝(−2𝑢ூ
ଶ(𝑋ூ)ଶ) 

 
From: 
 
Modular equations and approximations to 𝝅 - Srinivasa Ramanujan 
Quarterly Journal of Mathematics, XLV, 1914, 350 – 372 
 

 
 

We have that: 
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1-24*exp(-Pi*sqrt(5))+276*exp(-2Pi*sqrt(5)) 

Input: 

 

Exact result: 
 

Decimal approximation: 
 

 

0.978869614522638… 
 
Alternate forms: 

 

  

 

 
Series representations: 
 

 

  

 

  
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We have that: 

exp(-2Pi*sqrt(5)) 

Input: 

 

Exact result: 

 

Decimal approximation: 
 

 

7.9126772531….*10-7 
 
Property: 

 

Series representations: 

 

  

 

  
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and we observe that obtain: 

 

1/276*(((0.978869614522638-1+24*exp(-Pi*sqrt(5))))) 

Input interpretation: 

 
 
Result: 

 
7.9126772531....*10-7 

          
Thence, we set −2𝜋𝛼′|𝑇|ଶ = −2𝑢ூ

ଶ(𝑋ூ)ଶ = −2𝜋√5  and obtain: 
 
𝑒𝑥𝑝(−2𝜋𝛼′|𝑇|ଶ) → 𝑒𝑥𝑝(−2𝑢ூ

ଶ(𝑋ூ)ଶ) =  𝑒𝑥𝑝൫−2𝜋√5൯ = 7.9126772531….*10-7 
 
 
In conclusion, we have for S: 
 
2*4.442880742451775 * integrate [exp(-2Pi*sqrt(5)) * (((3*4^3 gamma (3)))) / (((2* 
gamma (6))))]x 
 
Input interpretation: 

 

 
Result: 

 
5.624813022256033 * 10-6 x2 
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Plot: 

 
 
And for x = 0.9502566373 
 
(5.624813022256033×10^-6 * 0.9502566373^2) 
 
Input interpretation: 

 
 
Result: 

 
5.07913684302283….*10-6 
 
And: 
 
1/(5.624813022256033×10^-6 * 0.9502566373^2 ) 
 
Input interpretation: 

 
 
 
Result: 

 
196883.84678465…. result practically equal to the value of the following partition 
function, concerning the j-invariants: 

 

 
With regard the value  0.9502566373 is very near to the result of the following 
Rogers-Ramanujan continued fraction: 
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We have indeed: 
 
0.9568666373-0.00661 = 0.9502566373;    0.00661 = 661/105  and 
 
661 = 610 + 47 + 4  where 610 is a Fibonacci number, 4 and 47 are Lucas numbers 
 
 
From: 
 
On certain trigonometrical sums and their applications in the theory of numbers 
Srinivasa Ramanujan - Transactions of the Cambridge Philosophical Society, XXII, 
No.13, 1918, 259 – 276 
 

 

 

s > 1;  s = 2, n = 5                                                                (14.4) 

  

Pi^2*5 / 1! ((((((1^-2*(sin5Pi/sin5Pi)+2^-2(((sin5Pi))/(sin(5Pi/2+2Pi/2)))+3^-
2(((sin5Pi))/(sin(5Pi/3+2Pi)))+4^-2(((sin5Pi))/(sin(5Pi/4+6Pi/2))))))) 

Pi^2*5 / 1! 

Input: 

 

 
 



72 
 

Exact result: 
 

Decimal approximation: 
 

49.348022005446793… 
 
Property: 

 
 
Alternative representations: 

 
  

 
  

 

 
 
 

 
 
Series representations: 

 
  

 
  

 
 
 
Integral representations: 

 
  
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  

 
 

 

1^-2*((sin5Pi)/(sin5Pi))+2^-2(((sin5Pi))/(sin(5Pi/2+2Pi/2))) 

Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
1.7531373641576592… 
 
Alternate forms: 

 
  

 
 
Alternative representations: 

 
  

 
  
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Series representations: 

 
  

 
  

 

 
 

 
 
Integral representations: 

 
  

 
  

 

 
 

 

3^-2(((sin5Pi))/(sin(5Pi/3+2Pi)))+4^-2(((sin5Pi))/(sin(5Pi/4+6Pi/2))) 

Input: 

 
 
Exact result: 
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Decimal approximation: 
 

0.1202360068157471256665…. 
 
Alternate forms: 

 
  

 

 
 
Alternative representations: 

 
  

 
  

 

 
 
 
Series representations: 

 
  

 
  
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Integral representations: 

 
  

 
  

 

 
 

 
49.348022005446793 (1.7531373641576592 + 0.1202360068157471256665) 
 
Input interpretation: 

 
 
Result: 

 
Repeating decimal: 

 
92.447270335213693…. 
 
 
We note that: 
 
(((49.3480220054 (1.7531373641 + 0.1202360068))))^1/9 
 
Input interpretation: 

 
 
Result: 
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1.65360842733…. 
 
And: 
 
18/10^3+(((49.3480220054 (1.7531373641 + 0.1202360068))))^1/9 
 
Input interpretation: 

 
 
Result: 

 
1.67160842733…. 
 
We note that  1.67160842733... is a result practically equal to the value of the 
formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶସ gm              

 
that is the holographic proton mass 
 
 
 

(14.5) 
 
s = 8, n = 5                                                                                            
 
4((((1/2(sin5Pi)/((cos5Pi)/2) – 1/4(sin5Pi)/((cos5Pi)/4)+1/6(sin5Pi)/((cos5Pi)/6)))) 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 
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-13.5220600249863… 
 
Property: 

 
  

Alternate forms: 

 
  

 
  

 
 
Alternative representations: 

 
  

 
  

 

 
 

 
 
Series representations: 

 
  
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  

 

 
 
 
Integral representation: 

 

 
 
 
 
We have: 
 
1+1/ ((((-4((((1/2(sin5Pi)/((cos5Pi)/2) – 
1/4(sin5Pi)/((cos5Pi)/4)+1/6(sin5Pi)/((cos5Pi)/6)))))))))^1/6 
 
Input: 

 
 
 
Exact result: 

 
Decimal approximation: 

 

1.6478774389…. ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
Property: 

 
  

Alternate forms: 
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  

 
  

 

 
 

 
 
Alternative representations: 

 
  

 
  
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Series representations: 

 
  

 
  

 

 
 
 
Integral representation: 
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s = 3, n = 5                                                                                                         (14.8) 
 

((((Pi/2)^3 * (5+3/4)^2))) / 2! * ((((1^-3(sin23Pi)/(sin23Pi) – 3^-
3(sin23Pi)/((sin23Pi)/3)+5^-3(sin23Pi)/((sin23Pi)/5))))) 

Input: 

 

 
 
 
Exact result: 

 
Decimal approximation: 

 
59.51536382032341… 
 
Property: 

 
 
Alternative representations: 

 
  
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  

 

 
 

 
 
Series representations: 

 
  

 
  

 
 
 
Integral representations: 

 
  
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  

 
 
 
 

 

 

s = 8,  n = 5                                                            (14.6) 

 

 

((((Pi/2)^8 * (5+8/4)^7))) / 7! * ((((1^-8(sin7Pi)/(sin7Pi) + 3^-
8(sin7Pi)/((sin7Pi)/3)+5^-8(sin7Pi)/((sin7Pi)/5))))) 

Input: 

 

 
 
Exact result: 

 
Decimal approximation: 
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6059.2497124441 
 
Property: 

 
 
Alternative representations: 

 
  

 
  

 

 
 
 

 
 
Series representations: 

 
  
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  

 
 
 
Integral representations: 

 
  

 
  
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s = 6, n = 5                                                            (14.7) 

 

((((Pi/2)^6 * (5+6/4)^5))) / 5! * ((((1^-6(sin13Pi)/(sin13Pi) + 3^-
6(sin13Pi)/((sin13Pi)/3)+5^-6(sin13Pi)/((sin13Pi)/5))))) 

Input: 

 

 
 
Exact result: 

 
Decimal approximation: 

 
1458.90406609… 
 
Property: 

 
 
Alternative representations: 

 
  
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  

 

 
 
 

 
 
Series representations: 

 
  

 
  

 
 
 
Integral representations: 
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  

 
  

   
 
 

 

92.447270335213693 
 
-13.5220600249863… 
 

6059.2497124441 
 
1458.90406609…    
 
59.51536382032341… 
 

-(843+29+4) + 0.64 * -(-6059.2497124441 *1/1458.90406609) * 
(92.447270335213693 *- 59.51536382032341 * -13.5220600249863) 

Where 843, 29 and 4 are Lucas numbers 

Input interpretation: 

 



90 
 

 
Result: 

 
196883.854938… 
 
-(32^2+47+4)+196884*(47-2) /  -(-6059.2497124441 *1458.90406609) * 
(92.447270335213693 *- 59.51536382032341 * -13.5220600249863) 
 

Where 47 and 4 are Lucas numbers 

Input interpretation: 

 
 
Result: 

 
73491.437895… 

 

We note that: 
 
196883,854938 ÷ 73491,437895 = 2,6790039843 
 
We have: 
 

   = 
 
=  𝝌(𝒒) = 2.6709253774829 
  
 
73491.437895 * 2.6709253774829 = 196290.1465;  
 
521 + 76 – 3 = 594;  where 521, 76 and 3 are Lucas numbers 
 
196290.1465 + 594 = 196884.1465  
 
Results concerning and linked to the finite Dirichlet’s series absolutely convergent of 
Ramanujan above analyzed. 
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With regard the previous results, i.e.: 
 

⎝

⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎟
⎞

/104 - 4096 - 2048 + 322  

 

≈  𝐴(𝑟) ×
ଵ

஻(௥)
ቀ−

ଵ

థ(௥)
ቁ ×

ଵ

௘Λ(ೝ) 

 
 
73491.976505275 ≈ 73491.7883254... 
 
We have that: 
 
73491,976505275 × 2,67092537 =  196291,58453938293632675 
 
196291,58453938293632675 + 594 =  196885,58453938293632675 
 
 
73491,7883254 × 2,67092537 =  196291,081924980675398 
 
196291,081924980675398 + 594 =  196885,081924980675398 
 
 
 
 

We have the following data: 

 

0.99951171875 = f-(r) 
 
1.00048828125 = f+(r) 
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p = 6; c1 = 1/4 = 0.25 
 
sqrt(((2*2 – ((7/16)*0.25^2)))) = k = 1.9931523 
 

 

From: 

Supergravity Description of Non-BPS Branes 
Philippe Brax, Gautam Mandal, and Yaron Oz - arXiv:hep-th/0005242v2 13 Jul 2000 
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For p = 6 

(7-6) (((((3-6)*1/4+4*1.9931523))/32)) 

Input interpretation: 

 
 
 
Result: 

 
0.2257065375 = α 

For: 

0.99951171875 = f-(r) 
 
1.00048828125 = f+(r) 
 

And: 

 

We obtain: 

(0.99951171875 / 1.00048828125)^0.2257065375 

Input interpretation: 

 
 
Result: 

 
0.999779607732…. result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
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And: 

 

 

 

 

p = 6; c1 = 1/4 = 0.25 
 
k = 1.9931523 
 

2+((((((((6+1)*((6-3)*0.25-4*1.9931523))/32)))))) 

Input interpretation: 

 
 
Result: 

 
0.4200542375 

 

2-((((((((6+1)*((6-3)*0.25-4*1.9931523))/32)))))) 

Input interpretation: 

 
 
Result: 

 
3.5799457625 
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For: 

0.99951171875 = f-(r) 
 
1.00048828125 = f+(r) 
 

(0.99951171875^3.5799457625 * 1.00048828125^0.4200542375) 

Input interpretation: 
 

 
Result: 

 
0.9984577977…. 

 

 

 

1/16(((7-6)(6+1)*0.25-4(3-6)*1.9931523)) 

Input interpretation: 

 
 
Result: 

 
1.604239225 

For: 

0.99951171875 = f-(r) 
 
1.00048828125 = f+(r) 
 

(0.99951171875/1.00048828125)^1.604239225 

Input interpretation: 
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Result: 

 
0.99843458655… 

 
 
From: 
 
"Boundary States and Black p-branes” Shinpei Kobayashi（RESCEU）in 
collaboration with Tsuguhiko Asakawa (RIKEN) So Matsuura (RIKEN)" 2004/05/19 

 
dilaton (10-dim.) 
 
  

 
 
                                                                                                             (a) 
 
From: 
D–Brane Primer 
Clifford V. Johnson 
arXiv:hep-th/0007170v3 24 Aug 2000 
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        κ-1 = 2.4e+18;    κ = 4.1666…e-19     
 
 
α’ that is 0.95686  ≈ 1 (GeV)-2  

 
(((sqrt(Pi)(4Pi^2*0.95686)^2.5))) / ((16*4.1666e-19)) 

Input interpretation: 

 
 
Result: 

 
2.33181… * 1021 = TP 

 

 (((4.1666e-19*((((3(gamma 3/2)^2 * (2.33181e+21)^2))) / (((8sqrt(2)*Pi^3))))) * ((1 
/ 4096^2)) 

Input interpretation: 

 

 
 
Result: 

 
9.06995… * 1014 

 

For r = 5,  

Input interpretation: 
we obtain: 

(((4.1666e-19*((((3(gamma 3/2)^2 * (2.33181e+21)^2))) / (((8sqrt(2)*Pi^3))))) * ((1 
/ 5^2)) 
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Result: 
 

6.08674... * 1020 
 

The mass of the dilaton is of the order of one hundred MeV, or about two hundred 
times (we take 181 = 199-18) the mass of an electron, which weighs about 10-27 
grams (or 10-31 kg) 

electron mass =9,1093837015(28)×10−31 kg 

181 *0.91093837015×10-27 grams 

Where 181 = 199-18 that are Lucas numbers 

Input interpretation: 
 

 
Unit conversion: 

 
1.64879845*10-28 kg 

 

Now, we have that: 

 

13*sqrt(1/1.64879845*10^-28) 

 

Where 13 is a Fibonacci number 

 

Input interpretation: 

 
 
 
 
Result: 

 
1.01241732... * 1015 
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 With regard the Regge slope, we have that: 

 

 

 

 

Now, we take the following values: 0.988 and the result of the following Rogers- 
Ramanujan continued fraction: 

 

  

We obtain: 

(0.988 + 0.9991104684)/2 = 0,9935552342.  Thence, in conclusion. 

(((sqrt(Pi)(4Pi^2*0.9935552342)^2.5))) / ((16*4.1666e-19)) 

Input interpretation: 
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Result: 

 
2.56184…. * 1021 

(((4.1666e-19*((((3(gamma 3/2)^2 * (2.56184e+21)^2))) / (((8sqrt(2)*Pi^3))))) * ((1 
/ 4096^2)) 

Input interpretation: 

 

 
 
Result: 

 
1.09477... * 1015  = 𝜙෠(ଶ) 

Thence the following possible mathematical connection: 

 

⎝

⎜
⎛

⎠

⎟
⎞

= 1.01241732 × 10ଵହ ≅  

≅

⎝

⎜
⎛

⎠

⎟
⎞

= 1.09477 × 10ଵହ 

              

           1.01241732... * 1015  ≈ 1.09477... * 1015 

 

For r = 961*1022 

(((4.1666e-19*((((3(gamma 3/2)^2 * (2.33181e+21)^2))) / 
(((8sqrt(2)*Pi^3)))))*1/(961*10^22)^2))) 
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Where 961 = 987-21-5 that are Fibonacci numbers 

 
Input interpretation: 

 

 
Result: 

 
1.64770… * 10-28    result very near to the value of dilaton mass 1.64879845*10-28 kg 

 

With r = 4096, after the following calculation, we obtain the following expression: 

(199-2)*1/(((((4.1666e-19*((((3(gamma 3/2)^2 * (2.56184e+21)^2))) / 
(((8sqrt(2)*Pi^3))))) * ((1 / 4096^2))))))^2 

Where 2 and 199 are Lucas numbers 

Input interpretation: 

 
 

 
Result: 

 
1.64370…. * 10-28 result that is very near to the value of dilaton mass like those 
obtained previously. 

Thence, we have this further mathematical connection: 

 

⎝

⎜
⎛

⎠

⎟
⎞

= 1.64770 × 10ିଶ଼ ≅ 
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≅

⎝

⎜⎜
⎛

⎠

⎟⎟
⎞

= 1.64370 × 10ିଶ଼ 

 

          1.64770… * 10-28   ≈  1.64370… * 10-28 

 

Note that, the result of the hypothetical dilaton mass is a sub-multiple very near to 
ζ(2) = 1.64493... 

 
From: 
 
Excited D-branes and Supergravity Solutions 
Tsuguhiko Asakawa, Shinpei Kobayashi and So Matsuura 
hep-th/0506221 - June 2005 
 
 
The boundary state corresponding to the NSNS-sector of N Dp-branes in the 
limit of u → ∞ 
 

Now, we have: 

1.7860228654147…*1038 = Np     2.33181… * 1021 = TP 

α’ that is 0.9935552342 ≈ 1 (GeV)-2   r = 4096;  n = 843 (Lucas number) 

 

y = 4𝜋𝛼′𝑢ଶ  is a dimensionless parameter   0 < 𝑢 < ∞  u = 9 

(4*Pi*0.9935552342*9^2) 

Input interpretation: 
 

 
Result: 
 

 
1011.316047… 
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Now, we have: 
 

 

 

 

-( 1011.316047-843)/(1011.316047+843) = 𝑺𝑴𝑵
(𝒏)  

Input interpretation: 

 
 
Result: 
 

 
-0.090769881041751…. 
 
 

-( 1011.316047-4096)/(1011.316047+4096) = 𝑺𝑴𝑵
(𝒓)  

Input interpretation: 
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Result: 
 

 
0.6039735791976… 
 

We have: 
 
1.7860228654147…*1038 = Np     2.33181… * 1021 = TP 

α’ that is 0.9935552342 ≈ 1 (GeV)-2   r = 4096;  n = 843 (Lucas number) 
 
y = 1011.316047; u = 9; pi = 8 

 
 

 
 
Now: 

 
 
(1.78602286e+38 * 2.33181e+21)/2 * ((((((4^1011.316047*1011.316047^(1/2)* 
gamma^2(1011.316047))) / (((sqrt(4Pi)*gamma (2*1011.316047))))))^3 
 
Input interpretation: 

 

 
 
Result: 
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2.08311…*1059 
 
Now, we have: 
 

 
 
Thence: 
 
-0.090769881041751….    0.6039735791976… 
 
We take: 26 left-movers and 10 right-movers  (see Polchinski book Vol. II pag.73) 
 
 

 
 
exp(-1/843*26*-0.090769881041751*26 + i * 10*0.6039735791976*10) 
 
Input interpretation: 

 

 
 
Result: 
 

 
Polar coordinates: 

 
1.07550270471 
 
 
And: 
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integrate [8/(2Pi)^3*exp(-64/(81*8*Pi)]x 
 
Indefinite integral: 
 

 

Plots of the integral: 

 

  

 

  
Alternate form assuming x is real: 

 

  
Series expansion of the integral at x = 0: 

 

 

  
Definite integral: 

 More digits 

 

1.02588 
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  
Definite integral over a half-period: 

 More digits 

 

 
Thence: 

( 2.08311*10^59 * 1.07550270471 * 1.02588) 

Input interpretation: 
 

 

Result: 
 

Scientific notation: 
 

2.2983717437…*1059 

 
And: 
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For 𝑦 → ∞, we obtain: 

(1.78602286e+38 * 2.33181e+21)/2  

Input interpretation: 

 
 
Result: 

 
Scientific notation: 

 
2.0823329825883 * 1059 

 

We have: 
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   = 2.2983717437…*1059 

 

 

  = 2.0823329825883 * 1059 

 

We have the following expressions: 

(2.2983717437 *10^59) / (2.0823329825883 * 10^59) 

Input interpretation: 

 
 
Result: 
 

 
1.103748422043…. result that is very near to the sum of the following two 
Ramanujan continued fraction: 
 
 

0.5683000031 + 0.5269391135 = 1.0952391166  
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(10178)+2*((((2.2983717437 *10^59) + (2.0823329825883 * 10^59))))^1/12 

We have 10178 = 6765+2584+610+199+18+2, where 6765, 2584, 610 are Fibonacci 
numbers, while 199, 18 and 2 are Lucas numbers 

Input interpretation: 

 
 
Result: 
 

 
196884.165976.... … result practically equal to the value of the following partition 
function: 

 

 
From: 
 



111 
 

 

   = 2.2983717437…*1059 

 

  = 2.0823329825883 * 1059 

 
-(4181 - 233  - 21)+2*((((2.2983717437 *10^59) + (2.0823329825883 * 
10^59))))^1/13 
 
Where 4181, 233 and 21 are Fibonacci numbers 
 
Input interpretation: 

 
 
Result: 

 
73490.8437525... result very near to the following ratio (A. Nardelli) concerning the 
general asymptotically flat solution of the equations of motion of the p-brane: 
 
 

𝐴(𝑟) ×
1

𝐵(𝑟)
൬−

1

𝜙(𝑟)
൰ ×

1

𝑒Λ(௥)
 

 

                
          = = 

          =  73491.7883254... 
 
We note that: 

((((2.2983717437 *10^59) + (2.0823329825883 * 10^59))))^1/276 

Where 276 = 233 + 47 – 4   (233 is a Fibonacci number, 47 and 4 are Lucas numbers) 

Input interpretation: 

 
 
Result: 
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1.6447221856470.... ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 

In conclusion, we have also: 

ln((((2.2983717437 *10^59) + (2.0823329825883 * 10^59)))) 

Input interpretation: 
 

 

 
 
Result: 

 

137.32973….  result very near to the rest mass of Pion mesons 139.570 and 134.976 
and practically equal to the average is 137.273 

 

Alternative representations: 
 

 

  

 

  

 

 

 

 

  
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Series representations: 
 

 

  

 

  

 

 

 

 

 

  
Integral representations: 

 

  
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From: 
 
"Boundary States and Black p-branes” Shinpei Kobayashi（RESCEU）in 
collaboration with Tsuguhiko Asakawa (RIKEN) So Matsuura (RIKEN)" 2004/05/19 

 

 

 

 

From the following data: 

1.09477... * 1015  = 𝜙෠(ଶ) 

Ω2 = 1, is a gauge transformation parameter,   κ = 4.1666…e-19    

1.7860228654147…*1038 = Np     2.33181… * 1021 = TP 

α’ that is 0.9935552342 ≈ 1 (GeV)-2   r = 4096;  n = 843 (Lucas number) 
 
y = 1011.316047; u = 9; pi = 8, p = 6 

 

 

 

 

 

1+(2*4.1666e-19*2.33181e+21)/(4096) 

 Input interpretation: 

 
 
Result: 

 
1.4744003684.... = H(r) 
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(1.4744003684 – 1) / (2*4.1666e-19*2.33181e+21) 

Input interpretation: 

 
 
Result: 
 

 
  

Repeating decimal: 
 

 
0.00024414062497065.... = G(r) 

 

We observe that: 

1/ ((((1.4744003684 – 1) / (2*4.1666e-19*2.33181e+21)))) 

Input interpretation: 

 
 
Result: 
 

 
4096.0000004924…. result practically equal to the value of r, that is 4096. 
 
Note that √4096 = 64 = 82, where 8 is a Fibonacci numbers and are the "modes" 
corresponding to the physical vibrations of a superstring. 

 
Thence:  
 
G(r) = 1 / r = 1 / 4096  
 
Thence: 
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-(((((3/(2*sqrt(2)))*(2.33181e+21)*((1/(4096)))))+(((((3/(2*sqrt(2)))* (4.1666e-
19)*(2.33181e+21)^2)*((1/(4096)))^2))) 

Input interpretation: 

 
 
Result: 
 

 
-7.47050…*1017 

 

We observe that from the result of this expression, we can to obtain: 

(3571+233+11)+1/4[(((-((((-
(3/(2*sqrt(2)))*(2.33181e+21)*((1/(4096)))))+(((((3/(2*sqrt(2)))* (4.1666e-
19)*(2.33181e+21)^2)*((1/(4096)))^2))))))))]^1/3 

Where 11 and 3571 are Lucas numbers and 233 is a Fibonacci number 

Input interpretation: 

 
 
Result: 

 
196884.36… 

 

And: 
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(2207+843+233)+1/11[(((-((((-
(3/(2*sqrt(2)))*(2.33181e+21)*((1/(4096)))))+(((((3/(2*sqrt(2)))* (4.1666e-
19)*(2.33181e+21)^2)*((1/(4096)))^2))))))))]^1/3 

Where 2207 and 843 are Lucas numbers and 233 is a Fibonacci number 

Input interpretation: 

 
 
Result: 

 
73490.0404…. 

 

With regard the inverse of this expression, we obtain: 

1/ ((((((((-(((((3/(2*sqrt(2)))*(2.33181e+21)*((1/(4096)))))+(((((3/(2*sqrt(2)))* 
(4.1666e-19)*(2.33181e+21)^2)*((1/(4096)))^2))))))))))) 

Input interpretation: 

 
 
Result: 
 

 
-1.33860…*10-18 

Result: 
 

-1.338599166652….*10-18 

 

And: 

 

1/(1.897512108+1.8236681145196)* (-1.338599166652011 × 10^-18)^2 * 1729 * 
196884 
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Where 1.897512108 and 1.8236681145196 are two results of Ramanujan mock theta 
functions, 1729 is the Hardy-Ramanujan number and 196884 is a fundamental 
number of the following  j-invariant  

 

 
 

(In mathematics, Felix Klein's j-invariant or j function, regarded as a function of 
a complex variable τ, is a modular function of weight zero for SL(2, Z) defined on 
the upper half plane of complex numbers. Several remarkable properties of j have to 
do with its q expansion (Fourier series expansion), written as a Laurent series in 
terms of q = e2πiτ (the square of the nome), which begins: 

 
Note that j has a simple pole at the cusp, so its q-expansion has no terms below q−1. 

All the Fourier coefficients are integers, which results in several almost integers, 
notably Ramanujan's constant: 

 
The asymptotic formula for the coefficient of qn is given by 

 
as can be proved by the Hardy–Littlewood circle method) 

 

Input interpretation: 

 
  

Result: 
 

 
1.6391768575611497…*10-28   result very near to the value of dilaton mass 
1.64879845*10-28 kg 
 

We now, analyze this other equation: 
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For r = 5, from: 

 

we obtain: 

(((4.1666e-19*((((3(gamma 3/2)^2 * (2.33181e+21)^2))) / (((8sqrt(2)*Pi^3))))) * ((1 
/ 5^2)) 

 
 

 
6.08674... * 1020 

For: 

 κ = 4.1666…e-19;   k = 1.9931523;   2.33181… * 1021 = TP ;  r = 4096;  n = 843 
(Lucas number);  y = 1011.316047; u = 9; pi = 8, p = 6;  x = 0.9502566373,  

we obtain: 

(((4.1666e-19*(2.33181e+21)^2*3*gamma (3/2)^2 * gamma (3/2)))) / 
((((2sqrt(2)*Pi^1.5 * gamma (2)))) 

Input interpretation: 

 

 
 
Result: 

 
3.003685130732…*1023 

 

3.003685130732 × 10^23 * integrate [(1.9931523)/(2Pi)^3 * 
((exp(i*1.9931523*0.9502566373))) / (1.9931523)]x 

Input interpretation: 
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Result: 

 
(-1.92301*1020 + 5.74109*1020 i) x2 

Plot: 

 
  

 

For x = ζ(2e/0.63165) 

(-1.92301×10^20 + 5.74109×10^20 i) (((zeta (2e/0.63165))))^2 

Input interpretation: 

 

 
 

 
Result: 

 
Polar coordinates: 

 
6.08673*1020 result practically equal to the previous expression 

 

We have also that: 

-5778-18+76+1/2(((((-1.92301×10^20 + 5.74109×10^20 i) (((zeta 
(2e/0.63165))))^2))))^1/4 

Input interpretation: 
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Result: 

 
Polar coordinates: 

 
73491.1 

From: 

D-branes, Matrix Theory and K-homology 
Tsuguhiko Asakawa, Shigeki Sugimoto and Seiji Terashima 

arXiv:hep-th/0108085v3 8 Apr 2002 
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Now, we have that: 
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(5.53-5.55) 

 

= 

=                                      (5.72-5.73) 

For u = -1,  u2 =1  and  n = 76, that is a Lucas number. we obtain: 

(((-1* gamma (1) * exp-((1-2/(1+76)))))) / (sqrt(2*Pi)) 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 
 

-0.15062461854366… 
 
Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

 

 

 

 

 

 

 
 
Integral representations: 

 

  
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  

 

 
 
From the ratio between the two results, we obtain: 

-sqrt(2) / ((((((-1* gamma (1) * exp-((1-2/(1+76)))))) / (sqrt(2*Pi))))) 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 
 

9.388993486…. result very near to the value of black hole entropy 9.3664  
 
Alternative representations: 

 

  

 

  
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Series representations: 

 

 

 

 

 

 

 

 

 
Integral representations: 

 

  
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  

 

 
 
Furthermore. We have also that: 

(29/10^3+4/10^3)+1+1/((-sqrt(2) / ((((((-1* gamma (1) * exp-((1-2/(1+76)))))) / 
(sqrt(2*Pi)))))))^1/5 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 
 More digits 

 

1.671963709… 

We note that  1.671963709... is a result practically equal to the value of the formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶସ gm              

 
that is the holographic proton mass 
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Alternate forms: 

 

  

 

 
 
Alternative representations: 

 

  

 

  

 

 

 
 
Series representations: 

 

  
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  

 

 

 
 
Integral representations: 

 

  

 

  

 

 
 
We have that: 
 

                                                      

                       
 
For u = -1,  u2 =1  and  r = 21, that is a Fibonacci number, we obtain: 
 
(((sqrt(2Pi)*exp(1-2/(1+21))))) / (((gamma (1+1/2))))   
 
Input: 
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Exact result: 

 

Decimal approximation: 
 

7.020340210733174….           
 
 
Property: 

 

 
Alternative representations: 

 

  

 

  

 

 

 

 

 
 
Series representations: 
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  

 

 

 

 

 

 

 

 
 
Integral representations: 

 

  

 

  
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We obtain also: 

-9/10^3+ (((((((sqrt(2Pi)*exp(1-2/(1+21))))) / (((gamma (1+1/2))))))))^1/4 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 
 More digits 

 

1.6187568802… 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

Property: 

 

  
Alternate form: 

 

 
Alternative representations: 

 

  
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  

 

 

 

 

 
 
Series representations: 

 

  

 

  

 

 

 
 
Integral representations: 
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  

 

  

 

 

 

And: 

(47/10^3-3/10^3)+ (((((((sqrt(2Pi)*exp(1-2/(1+21))))) / (((gamma (1+1/2))))))))^1/4 

Where 47 and 3 are Lucas numbers 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 
 

1.6717568802… 

We note that  1.6717568802... is a result practically equal to the value of the formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶସ gm              

 
that is the holographic proton mass 



135 
 

 

Property: 

 

  
Alternate form: 

 

 
Alternative representations: 

 

  

 

  

 

 

 

 

 
 
Series representations: 

 

  
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  

 

 

 
 
Integral representations: 

 

 

 

  

 

 

 
 
 

In conclusion, multiplying the two result, we obtain: 

[-sqrt(2) / ((((((-1* gamma (1) * exp-((1-2/(1+76)))))) / (sqrt(2*Pi))))) * 
(((((sqrt(2Pi)*exp(1-2/(1+21))))) / (((gamma (1+1/2))))))] 
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Input: 

 

 

Exact result: 

 

Decimal approximation: 
 

65.913928509729 

 
 
Alternative representations: 

 

  

 

  

 

 

 

 

 
 
Series representations: 
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Integral representations: 

 

 



139 
 

 

  

 

 

 

 

(3571+123+8)+(2.739911-0.5447171)[-sqrt(2) / ((((((-1* gamma (1) * exp-((1-
2/(1+76)))))) / (sqrt(2*Pi))))) * (((((sqrt(2Pi)*exp(1-2/(1+21))))) / (((gamma 
(1+1/2))))))]^e 

Where 8 is a Fibonacci number, 123 and 3571 are Lucas numbers. Furthermore, 
2.739911 and 0.5447171 are two Ramanujan mock theta functions 

Input interpretation: 

 

 

Result: 

 
196883.5 

Alternative representations: 
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  

 

  

 

 

 

 

 
 
Integral representations: 
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  

 

  

 

 

 

From the three results, we obtain also: 

 

(((sqrt(2Pi)*exp(1-2/(1+21))))) / (((gamma (1+1/2))))   
 
Input: 
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Exact result: 

 

Decimal approximation: 

 

7.02034021… 
 
Property: 

 

  
Alternative representations: 

 

  

 

  

 

 

 
Series representations: 

 

  
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Integral representations: 

 

  

 

  

 

 

 
And: 
 
18/10^3+(((((((sqrt(2Pi)*exp(1-2/(1+21))))) / (((gamma (1+1/2))))))))^1/4   
 
Where 18 is a Lucas number 
 
Input: 
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Exact result: 

 

Decimal approximation: 
 

1.64575688…. ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
 
Property: 

 

  
Alternate form: 

 

 
Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

  

 

 

 
 
Integral representations: 

 

  

 

  
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(-1.0018674362)*1/(2Pi)) * sqrt(2) *1 / (((-1* gamma (1) * exp-((1-2/(1+76)))))) *1/ 
(sqrt(2*Pi)) * (((sqrt(2Pi)*exp(1-2/(1+21))))) *1/ (((gamma (1+1/2))))   

Where 1.0018674362 is the following Rogers-Ramanujan continued fraction 

 

 

Input interpretation: 

 

 

 
Result: 

 

1.6727372213…. result very near to the proton mass 

 

Alternative representations: 

 

  
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  

 

 

 

 

 
 
Series representations: 
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Integral representations: 

 

  

 

  
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From: 

Commutative Geometry for Non-commutative D-branes by Tachyon 
Condensation 
Tsuguhiko Asakawa, Goro Ishiki, Takaki Matsumoto, So Matsuura  and  Hisayoshi 
Muraki 
https://arxiv.org/abs/1804.00161v1 

 

Now, we have that: 

 

     

For ρ = 3, ℓ = 1, m = -1.8 

sqrt((((9(1+1.8)(1-1.8+1)(3*1 – 3(-1.8+1/2))^2)))   

Input: 
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Result: 
 

 
15.4905.... result very near to the value of the black hole entropy 15.6730 

 

(15127+843-47-11)+((((sqrt((((9(1+1.8)(1-1.8+1)(3*1 – 3(-1.8+1/2))^2))))))))^4   

Where 11, 47, 843 and 15127 are Lucas numbers 

Input: 

 
 

Result: 
 

73490.114.... 

And: 

(15127+843+29-2)+Pi*((((sqrt((((9(1+1.8)(1-1.8+1)(3*1 – 3(-1.8+1/2))^2))))))))^4   

Input:  

 
 
Result: 
 

 
196883.98019.... 

Series representations: 
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  

 

 

 

 

 

 

 

 

From: 

Spherical D-brane by Tachyon Condensation 
Tsuguhiko Asakawa and So Matsuura - arXiv:1703.10352v1 [hep-th] 30 Mar 2017 

Now, we have that: 
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From Wikipedia: 
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For  R = 0.97536759 ;   gs = 0.30282212;   f =0.724963711183;   

λ = 1.90268749507;  α’ = 0.95686 

  

(((((sqrt(((((1-(sqrt(1-1.90268749507^2*0.724963711183^4)))))))))))))*1 / 
((((sqrt(2)*0.724963711183)))) = R 

Input interpretation: 

 
 
Result: 

 
0.97536759... 

Numerator: 

(((((sqrt(((((1-(sqrt(1-1.90268749507^2*0.724963711183^4))))))))))))) 

Input interpretation: 

 
 
Result: 

 
0.999999055852347..... 

 

Denominator: 
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((((sqrt(2)*0.724963711183)))) 

Input interpretation: 

 
 
Result: 

 
1.02525351258... 

 

(2Pi)/ ((((0.30282212(((2*Pi*sqrt(0.95686))^4))))) = μ3 

Input interpretation: 

 

 
Result: 

 

0.0145404…. = μ3 
 
 
Series representations: 

 

  
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(((sqrt(2Pi*1.90268749507)))* 0.0145404 = μ2 

Input interpretation: 

 

 
Result: 

 

0.0502748…. = μ2 

 
Series representations: 

 

  

 

  
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((((4*Pi*sqrt(((0.97536759^4+(1.90268749507^2)/4))T)))-
4*Pi*Tsqrt(((0.97536759^4+(1.90268749507^2)/4)))-
2/3*0.724963711183*0.97536759^3))))) = 0.0502748*((8*Pi)/3)* 
0.724963711183*0.97536759^3 

Input interpretation: 

 
 
Result: 

 
Plot: 

 
  

Alternate form: 

 
  

Alternate form assuming T is positive: 
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Solutions: 

 
  

 
T = 0.907673  

 

For   

R = 0.97536759 ;   gs = 0.30282212;   f =0.724963711183;   

λ = 1.90268749507;  α’ = 0.95686;  μ2  = 0.0502748 

 

                                  

 
 
4*Pi*0.907673 (((((sqrt(((0.97536759^4+(1.90268749507^2)/4))))))-
2/3*0.724963711183*0.97536759^3 

Input interpretation: 

 

 
Result: 

 

10.2306… 

 
Series representations: 
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  

 

 

 

 

 

 

 

 
 
 
 
We obtain also: 
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18/10^3+1/(2Pi) (((((4*Pi*0.907673 
(((((sqrt(((0.97536759^4+(1.90268749507^2)/4))))))-
2/3*0.724963711183*0.97536759^3))))))) 
 
Where 18 is a Lucas number 
 
Input interpretation: 

 

 
Result: 

 

1.64625…. ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
 
Series representations: 

 

  
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And: 
 
(47/10^3-4/10^3)+1/(2Pi) (((((4*Pi*0.907673 
(((((sqrt(((0.97536759^4+(1.90268749507^2)/4))))))-
2/3*0.724963711183*0.97536759^3))))))) 
 
Input interpretation: 

 

 
 
 
 
Result: 
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1.671248248… 

We note that  1.671248248... is a result practically equal to the value of the formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶସ gm              

 
that is the holographic proton mass 
 

 
Series representations: 

 

  
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Now, from the result: 

 
and the solution  T1 = 0.907673, we have  0.907673 – 0.283328 = T2 = 0.624345  

 

                              

4*Pi ((((((((sqrt(((0.97536759^4+(1.90268749507^2)/4))))))*0.624345))))) - 
((((((0.0502748*((8Pi)/3)* 0.724963711183*0.97536759^3)))))) 

Input interpretation: 

 

 
Result: 

 

10.2724… 

 
Percent decrease: 

 



163 
 

  
Series representations: 

 

  

 

 

 

 

 

 

 

 
Or, for T = 1/16, we obtain: 
 
4*Pi ((((((((sqrt(((0.97536759^4+(1.90268749507^2)/4))))))*1/16))))) - 
((((((0.0502748*((8Pi)/3)* 0.724963711183*0.97536759^3)))))) 
 
Input interpretation: 
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Result: 

 

0.773348… 

 
 
Percent decrease: 

 

  
Series representations: 

 

  
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4Pi*1/16*(((sqrt((((0.97536759^4+(1.90268749507^2)/4))))-((2/3*0.724963711183 
*0.97536759^3))))) 
 
Input interpretation: 

 

 
Result: 

 

0.70445148… 

 
 
Series representations: 
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  

 

 

 

 

 

 

 

 
 
 
Thence, we obtain: 
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0.773348… ≈ 0.70445148... 
 
 
Now, we have that: 
 

                                
 
For k = 1, we obtain:   
 
4*Pi*1/16*((((sqrt((((0.97536759^4+(1.90268749507^2)/4))))-
((2/3*0.724963711183 *0.97536759^3)))))) 
 
Input interpretation: 

 

 
 
Result: 

 

0.70445148… 

Note that: 
 
0.70445148 * 2 = 1.40890296 result very near to √2 = 1.414... and to the value of the 
Ramanujan mock theta function: 
 

 
 

 

𝝓(𝒒) = 1.40643658… 
  
 
Series representations: 
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  

 

 

 

 

 

 

 

 
 
 
Now, we have: 
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7/3(((((((4*Pi*1/16*((((sqrt((((0.97536759^4+(1.90268749507^2)/4))))-
((2/3*0.724963711183 *0.97536759^3))))))))))))) 
 
Where 7 and 3 are Lucas numbers 
 
Input interpretation: 

 

 
Result: 

 

1.6437201…. ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
 
Series representations: 

 

  
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And: 
 
 
(21/10^3+7/10^3)+7/3(((((((4*Pi*1/16*((((sqrt((((0.97536759^4+(1.90268749507^2)
/4))))-((2/3*0.724963711183 *0.97536759^3))))))))))))) 
 
Where 21 is a Fibonacci number 
 
Input interpretation: 

 

 
Result: 

 

1.6717201… 

We note that  1.6717201... is a result practically equal to the value of the formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶସ gm              

 
that is the holographic proton mass 
 

 
Series representations: 
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  

 

 

 
We have also: 
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For  C = 1/64, we obtain: 
 
4*Pi*1/16* ((((((((sqrt((((0.97536759^4+(1.90268749507^2)/4))))))))-
1/64*0.97536759^2)))) 
 
Input interpretation: 

 

 
Result: 

 

1.0450015… 

 
 
Series representations: 
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  

 

 

 

 

 

 

 

 
 
 
 
From: 
 

 
 
And 
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C2 = 1 – (1/64)2 = 0.999755859375  
 
1.90268749507/2*(((sqrt(((0.999755859375/(1-0.999755859375)))))) 
 
Input interpretation: 

 
 
Result: 

 
60.8785670... 
 
From: 
 

 
 
And 
 

 
 
4Pi*1/16*(1.90268749507/2)*1/64 
 
Input interpretation: 

 

 
Result: 

 

0.0116747442512… 

 

Alternative representations: 

 

  
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  

 

 

 

 

 
 
 
 
 
 
Series representations: 

 

  

 

  

 

 

 
 
Integral representations: 

 

  
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  

 

 
 
 
From: 
 
Fat Inflatons, Large Turns and the η-problem 
Dibya Chakraborty, Roberta Chiovoloni, Oscar Loaiza-Brito, Gustavo Niz, 
Ivonne Zavala - arXiv:1908.09797v2 [hep-th] 27 Aug 2019 
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178 
 

 

 
 

   
 
u = 50 * 501.961 = 25098.05 Planck units  
 
ρ = 0.000284404565  
 
 

 
 
 
5/72(((((((81(9* 0.000284404565^2-2)* 0.000284404565^2+162 ln(9*( 
0.000284404565^2+1))-9-160 ln(10)))))))) 
 
Input interpretation: 

 

 

 
Result: 

 

-1.49050231601219…. 

 
Alternative representations: 

 

  
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  

 

 

 

 
 
Series representations: 

 

  

 

  
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Integral representations: 

 

  

 

 

 
 
And: 
 
0.001*((((2/0.000284404565^2-
2ln(1/(0.000284404565^2)+1)))))+2*0.0005*((((((6+1/0.000284404565^2-
2(2+3*0.000284404565^2)ln(1+1/(0.000284404565^2))))))))*cosPi + 
0.001/2(2+3*0.000284404565^2)*cosPi 
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Input interpretation: 

 

 

 
Result: 

 

12363.1…. 

 
Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

  



183 
 

 

 

 

 
 
Integral representations: 

 

  

 

  
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Multiplying the two results, we obtain: 
 
((-(12363.11119623* (-1.49050231601219)))) 
 
Input interpretation: 

 
 
Result: 

 
 
Repeating decimal: 

 
18427.245871…. 
 
 
-(199+18)+4*((-(12363.11119623* (-1.49050231601219)))) 
 
Input interpretation: 

 
 
Result: 

 
73491.98348…. 
 
 
We can to obtain, the following mathematical connection, with the previous equation: 
 
 

-(199+18)+4

⎝

⎜
⎜
⎛

× −

⎠

⎟
⎟
⎞

 

 
=  73491.98438 ⇒ 
 
 

−3927 + 2

⎝

⎜
⎛

ඪ
+

భయ

⎠

⎟
⎞
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= 73490.8437525.... 
 
 
And: 
 
-(((5778+29+8)-11*((-(12363.11119623* (-1.49050231601219)))))) 
 
Input interpretation: 

 
 
Result: 

 
196884.7…. 
 
 

-(5778+29+8)-11

⎝

⎜
⎜
⎜
⎜
⎛

× −

⎠

⎟
⎟
⎟
⎟
⎞

 

 
= 196884.704582...  
 
 
that can be connected with another previous equation: 
 

⎝

⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎞

 

 
              =    

              =     196884.36 
 
 
Thence: 
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-(5778+29+8)-11

⎝

⎜
⎜
⎜
⎜
⎛

× −

⎠

⎟
⎟
⎟
⎟
⎞

 

 
                   = 196884.704582... ⇒ 
 
 

                   ⇒

⎝

⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎞

= 

 
                 =    

                 =     196884.36 
 
 
Now, we have that: 
 

 
 
From: 
 

                            
 
We obtain: 
 
((1000*(50*501.961)^2)) / (((4*(2Pi)^3*0.01*501.961^4)))) 
 
Input interpretation: 

 

 



187 
 

Result: 

 

1.000001060617… 
 
Alternative representations: 

 

  

 

  

 

 

 

 

 
 
Series representations: 

 

  

 

  
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Integral representations: 

 

  

 

  

 

 
From the inverse, we obtain: 
 
1/(((((1000*(50*501.961)^2)) / (((4*(2Pi)^3*0.01*501.961^4)))))) 
 
Input interpretation: 

 

 
Result: 

 

0.99999893938344…. result that is a good approximation to the value of the 
following Rogers-Ramanujan continued fraction: 
 

 
 
Alternative representations: 

 



189 
 

  

 

  

 

 

 

 

 
 
Series representations: 

 

  

 

  

 

 

 
 
Integral representations: 

 

  
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  

 

 
 
For this other values: 
 
 

 
 

 

 

   
 
u = 50 * 501.961 = 25098.05 Planck units  
 
ρ = 456.797/(3*25098.05) = 0.00606683254940788892 
 
we obtain: 
 
5/72(((((((81(9* 0.006066832549^2-2)* 0.006066832549^2+162 ln(9*( 
0.006066832549^2+1))-9-160 ln(10)))))))) 
 
Input interpretation: 

 

 

 
Result: 

 



191 
 

-1.490502255050… 

 
Alternative representations: 

 

  

 

  

 

 

 

 
 
Series representations: 

 

  



192 
 

 

  

 

 

 

 

 
 
Integral representations: 

 

  
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And: 
 
0.001*((((2/0.006066832549^2-
2ln(1/(0.006066832549^2)+1)))))+2*0.0005*((((((6+1/0.006066832549^2-
2(2+3*0.006066832549^2)ln(1+1/(0.006066832549^2))))))))*cos33Pi + 
0.001/2(2+3*0.006066832549^2)*cos33Pi 
 
Input interpretation: 

 

 

 
Result: 

 

53.1861… 

 
Alternative representations: 

 

  
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  

 

 

 

 

 
 
 
Series representations: 

 

  

 

  



195 
 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
Integral representations: 

 

  

 

  
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Multiplying the two results, we obtain: 
 
(-2207+199+89)+12*(53.1860546717078120379056 * -1.490502255050)^2 
 
Where 2207 and 199 are Lucas numbers, while 89 is a Fibonacci number 
 
Input interpretation: 

 
 
 
Result: 

 
73493.28015… 
 
 
Thence, we have the following mathematical connection: 
 
 

        -2207+199+89)+12

⎝

⎜
⎛

× −

⎠

⎟
⎞

 

 
                   = 73493.28015… ⇒ 
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⇒ −3927 + 2

⎝

⎜
⎛

ඪ
+

భయ

⎠

⎟
⎞

 

 
                  = 73490.8437525.... 
 
 
 
From the simple multiplication of the two results, we obtain: 
 
(53.1860546717078120379056 * -1.490502255050) 
 
Input interpretation: 

 
 
Result: 

 
-79.273934425… 
 
And from the following algebraic sum: 
 
-(-53.1860546717078120379056  -1.490502255050) 
 
Input interpretation: 

 
 
Result: 

 
54.6765569… near to the Fibonacci number 55 
 
And: 
 
  -7/10^3+(-(53.1860546717078120379056 * -1.490502255050))^1/9 
 
where 7 is a Lucas number 
 
Input interpretation: 

 
 
Result: 
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1.61860299... 
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 
 
 
 
 
 
 
Fig.1 – Ramanujan mock theta functions (values) 
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